TO VALIDATE, GO TO Certificate Number: GI-COO-47368-66638645c32d6

**VERIFY.FTGS.US** Date: June 07, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Los Angeles
Irvine	Destination Country	Destination Port
CA	China	Tianjin Xingang
USA		
	Export Date 2024-05-30	Exporting Carrier N/A
Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit Number N/A	Bill of Lading / AWB 401410198565
NNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1554 bales Total: 649.311 MT



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	20.648 mt	United States
Marks: EGHU9492270 52bales		
Alfalfa Hay	21.119 mt	United States
Marks: TGBU6532285 52bales		
Alfalfa Hay	22.226 mt	United States
Marks: EITU1058269 52bales		
Alfalfa Hay	21.682 mt	United States
Marks: TGHU6828134 52bales		
Alfalfa Hay	21.419 mt	United States
Marks: EITU1858791 52bales		
Alfalfa Hay	22.181 mt	United States
Marks: EMCU1614968 52bales		
Alfalfa Hay	21.591 mt	19.632 mt
Marks: EITU1539177 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: GI-COO-47368-66638645c32d6 **VERIFY.FTGS.US** Date: June 07, 2024

Port of Loading Transport Type Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China Tianjin Xingang CA USA **Export Date Exporting Carrier** N/A 2024-05-30 Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD Import Permit Number Bill of Lading / AWB HUTONGTU VILLAGE, SHENGLETOWN 401410198565 HELINGEER COUNTY INNER MONGOLIA, 011500 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1554 bales Total: 649.311 MT



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Ifalfa Hay	22.843 mt	United States
Marks: EITU1847879 52bales		
Ifalfa Hay	21.392 mt	United States
farks: EITU1716478 50bales		
Ifalfa Hay	22.444 mt	United States
flarks: TLLU4572802 52bales		
Ifalfa Hay	21.754 mt	United States
flarks: EGSU9188894 52bales		
Ifalfa Hay	22.126 mt	United States
flarks: TXGU5593102 52bales		
Ifalfa Hay	22.054 mt	United States
1arks: TGBU6892168 52bales		
Ifalfa Hay	21.618 mt	United States
farks: EITU9195463 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: GI-COO-47368-66638645c32d6 **VERIFY.FTGS.US** Date: June 07, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Los Angeles
Irvine	Destination Country	Destination Port
CA	China	Tianjin Xingang
USA		
Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500	Export Date 2024-05-30	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410198565
China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1554 bales Total: 649.311 MT



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Ifalfa Hay	21.827 mt	United States
1arks: DRYU9269251 52bales		
lfalfa Hay	21.02 mt	United States
farks: EITU1298341 50bales		
Ifalfa Hay	21.047 mt	United States
farks: EGHU9458050 52bales		
lfalfa Hay	20.475 mt	United States
flarks: EMCU8251458 52bales	XXXXX XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	
lfalfa Hay	21.382 mt	United States
farks: TLLU4150875 52bales		
Ifalfa Hay	21.954 mt	United States
larks: TGBU6509393 52bales		
lfalfa Hay	21.301 mt	United States
larks: EGHU9328987 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



greater irvine chamber Destination Irvine Economic Development

TO VALIDATE, GO TO Certificate Number: GI-COO-47368-66638645c32d6

**VERIFY.FTGS.US** Date: June 07, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Los Angeles
Irvine	Destination Country	Destination Port
CA	China	Tianjin Xingang
USA		
	Export Date 2024-05-30	Exporting Carrier N/A
Consignee	2024-03-30	
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit Number N/A	Bill of Lading / AWB 401410198565
INNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1554 bales Total: 649.311 MT



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
Alfalfa Hay	21.482 mt	United States	
Marks: EISU8553358 52bales			
ulfalfa Hay	21.156 mt	United States	
Marks: TGBU8034867 52bales			
Alfalfa Hay	21.5 mt	United States	
Marks: EITU1318690 52bales			
Alfalfa Hay	22.29 mt	United States	
Marks: HMCU9142808 52bales			
Alfalfa Hay	21.509 mt	United States	
Marks: TRHU5762292 52bales			
Alfalfa Hay	21.691 mt	United States	
Marks: EMCU8857316 52bales			
Alfalfa Hay	21.346 mt	United States	
Marks: TRHU5292882 50bales			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: GI-COO-47368-66638645c32d6

VERIFY.FTGS.US Date: June 07, 2024

Port of Loading Transport Type Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China Tianjin Xingang CA USA **Export Date Exporting Carrier** N/A 2024-05-30 Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD Import Permit Number Bill of Lading / AWB HUTONGTU VILLAGE, SHENGLETOWN 401410198565 HELINGEER COUNTY INNER MONGOLIA, 011500 Owner or Agent Forwarding Agent China N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1554 bales Total: 649.311 MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.217 mt	United States
Marks: DRYU9268229 52bales		
Alfalfa Hay	22.017 mt	United States
Marks: EGSU9159514 52bales		
end of products	=====	
	N NAME AND	



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein

## **COMMERCIAL INVOICE**

Invoice No.

BH-202405006

Date:

5/24/24

## Shipper/Exporter:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

INNER MONGOLIA BEST HOLSTEINS CO.,LTD HUTONGTU VILLAGE,

SHENGLE TOWN,
HELINGEER COUNTY,
INNER MONGOLIA

Vessel: EVER FAR Voyage No.: 1348-020W

Shipping Line: Evergreen

Port of Loading: LOS ANGELES, CA

ETD: 5/24/24
Price Terms: CIF

Contract No.: BH-HGLC2024-1

**Booking No.:** 401410198565

Country of Origin: USA

Discharge: TianjinXingang, China

**ETA**: 6/22/24

Container No.	Seal#	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
DRYU9268229	A1713256	Alfalfa Supremi	52	22.217	\$417.00	\$9,264.49
DRYU9269251	A1713409	Alfalfa Supremi	52	21.827	\$417.00	\$9,101.86
EGHU9328987	A1713352	Alfalfa Supremi	52	21.301	\$417.00	\$8,882.52
EGHU9458050	A1713405	Alfalfa Supremi	52	21.047	\$417.00	\$8,776.60
EGHU9492270	A1518495	Alfalfa Supremi	52	20.648	\$417.00	\$8,610.22
EGSU9159514	A1713254	Alfalfa Supremi	52	22.017	\$417.00	\$9,181.09
EGSU9188894	A1713452	Alfalfa Supremi	52	21.754	\$417.00	\$9,071.42
EISU8553358	A1713310	Alfalfa Supremi	52	21.482	\$417.00	\$8,957.99
EITU1058269	A1518497	Alfalfa Supremi	52	22.226	\$417.00	\$9,268.24
EITU1298341	A1713406	Alfalfa Supremi	50	21.020	\$417.00	\$8,765.34
EITU1318690	A1713308	Alfalfa Supremi	52	21.500	\$417.00	\$8,965.50
EITU1539177	A1713458	Alfalfa Supremi	52	21.591	\$417.00	\$9,003.45
EITU1716478	A1713454	Alfalfa Supremi	50	21.392	\$417.00	\$8,920.46
EITU1847879	A1713456	Alfalfa Supremi	52	22.843	\$417.00	\$9,525.53
EITU1858791	A1518442	Alfalfa Supremi	52	21.419	\$417.00	\$8,931.72
EITU9195463	A1713407	Alfalfa Supremi	52	21.618	\$417.00	\$9,014.71
EMCU1614968	A1713460	Alfalfa Supremi	52	22.181	\$417.00	\$9,249.48
EMCU8251458	A1713404	Alfalfa Supremi	52	20.475	\$417.00	\$8,538.08
EMCU8857316	A1713260	Alfalfa Supremi	52	21.691	\$417.00	\$9,045.15
HMCU9142808	A1713305	Alfalfa Supremi	52	22.290	\$417.00	\$9,294.93
TGBU6509393	A1713402	Alfalfa Supremi	52	21.954	\$417.00	\$9,154.82
TGBU6532285	A1518494	Alfalfa Supremi	52	21.119	\$417.00	\$8,806.62
TGBU6892168	A1713408	Alfalfa Supremi	52	22.054	\$417.00	\$9,196.52
TGBU8034867	A1713309	Alfalfa Supremi	52	21.156	\$417.00	\$8,822.05
TGHU6828134	A1518443	Alfalfa Supremi	52	21.682	\$417.00	\$9,041.39
TLLU4150875	A1713401	Alfalfa Supremi	52	21.382	\$417.00	\$8,916.29
TLLU4572802	A1713453	Alfalfa Supremi	52	22.444	\$417.00	\$9,359.15
TRHU5292882	A1713259	Alfalfa Supremi	50	21.346	\$417.00	\$8,901.28
TRHU5762292	A1713304	Alfalfa Supremi	52	21.509	\$417.00	\$8,969.25
TXGU5593102	A1713410	Alfalfa Supremi	52	22.126	\$417.00	\$9,226.54
Total Value:	•		1,554	649.311		\$270,762.69

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

 ${\tt PACKING:FITFOR\ OCEAN\ TRANSPORTATION\ AND\ NON\ WOOD\ PACKAGING, EACH\ BALE\ IS\ APPROX.\ 420-460KG}$ 



